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Galbraith 1s asleep 1n class. Prof. Freud asks him a question.
Galbraith: (waking up) "I don’t know.”

Prof. Freud: “"What was the question?”

Galbraith: "I coudn’t hear, the train going by made too much noise.”
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What country 1s opposite us on the globe?
[ don’t know.

[t I were to bore through the earth and went in the end, where would I come out?

Out of the hole.

A man driving a nail exercises a force of 100 pounds to the square inch when he

hits the head of the nail and a 1,000,000 pounds when he hits his thumb.

“Praise a wife, bul remain a bachelor.”
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